.     Probability Trees    .
 To investigate situations where several events happen use probability trees

Overview:




If all probabilities are constant (eg flipping a coin) then the probabilities are not needed
.     Selection With or without replacement    .
Gummy bears

You each have a bag of 6 gummy bears of two different colours (2 RED, 4 BLUE)
If you are about to choose two, complete the probability tree to show all the possible selections, including probabilities & labels. 


‘With replacement’ – INDEPENDENT,   

1) What is the probability of getting two of the same colour?    

2) What is the probability of getting different colours? 
.     Different Events    .

   Bad Jelly the witch crashing her broomstick on 2 out of 5 flights
   If she crashes she will be late 80% of the time.

   With no crashes she is late 30% of the time.
1)  What is the chance she is late? 
2)  Is crashing and being late Independent? Why?

3)  Is crashing and being late Mutually Exclusive? Why?
4)  What is the Union of crashing and being late?
.     Bad Jelly the Witch    .

Bad jelly the witch made a stew of 3 frogs and 6 bats
She randomly selects one item at a time to eat.  She is full after eating 3 items




What is the probability she ate all three frogs?

What is the probability she ate 2 frogs?

What is the probability she ate at least 1 bat?
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ADD between branches (OR)
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MULTIPLY along branches (AND)
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Branches add to 1
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